Ajmal Law College Entrance Test (ALCET) 2022
for Admission into 3 years LL.B Course

Choose the antonym for the word "‘Humility*

A)

Abnormal

B)

Uproarious

C)

Arrogance

D)

None of the above

Choose the synonym for the word 'Eternal’

A)

Range

B)

Tradition

C)

Banish

D)

Perpetual

What is the meaning of the ferm$Heart Soul'?

A)

Very seriously and sincer

B)

Honestly

C)

Wearily

D)

Very casually

Find the meanin theyidiom and phrase :

suffering from fever since last week

has

has been

They the students on educational tour on next Sunday

are taking




B)

were taking

C)

have been taking

D)

had been taking

Golden Age of India refers to which empire?

A)

Mauryan

B)

Gupta

C)

Maratha

D)

Kushan

Who was the first Chief Minister of Assam ‘after iIndependence ?

A)

B)

C)

D)

Holiram Deka x
Gopinath Bordoloi

Bishnu Ram Medhi

Bimala Prasad Chaliha

Who was the first female f India ?

A)

Annie Besant

B)

Meera Kumari

C)

D)

Sucheta Kripalahi
Fatima Begvi

s the Father of Computer ?

RI- BERI is caused by the lack of which Vitamin ?

Vitamin A

Vitamin D

Vitamin C

Vitamin B

12

Who is the present President of India ?




A)

Ramnath Kovind

B)

Draupadi Murmu

C)

Pranab Mukherjee

D)

Pratibha Patil

13

Who has been awarded with Assam Bhaibhav 2022 ,the State's
highest civilian award ?

A)

Ratan Tata

B)

Bhupen Hazarika

C)

Mamoni Raisom Goswami

D)

Bishnu Prasad Agarwala

N

14

The first Law Officer of vernment of India is -

A)

Union Law Minister

B)

Secretary, Ministry W

C)

Attorney- Genegal of

D)

Chief Justice of the,Supreme Court

ternational Court of Justice situated

e the 7th National Park of Assam ?

Orang National Park

Dibru Saikhuwa National Park

Raimona National Park

Dihing Patkai National Park

Who is the present Chief Justice of India?

Ranjan Gogoi




B)

Sharad Arvind Bobhde

C)

Nuthalapati Venkata Ramana

D)

Jagdish Sing Khehar

18

Milk : Curd:: Water : .......cccceeenn...

A)

River

B)

Ice

C)

Thirst

D)

Vapour

19

Aman started working towards the north. He t ght and
started walking again. In which direction isthe walkingghow?

A)

East

B)

West

C)

North

D)

South

20

son of C. D is C 's Father. Then what is A

A is brother of%

the correct sequence - AV1, BW2,CX3, DY4,

VUY

B)

EZ5

C)

VYU

D)

VUV

22

Select the best alternative

Ace: Tennis




b)

Free kick: Football

c)

Chinaman : ?

d)

Bandy: Hockey

A)

Swimming

B)

Cricket

C)

Hockey

D)

Polo

23

A)

B)

C)

Buyer
Creator

Contractor

D)

Doctor

24

Who is the present Law Minister 8fIndia?

A)

Ravi S. Prasad

B)

Kiren Rijiju

C)

Piyush Goyal

D)

Sarbananda Songwal
0 th%rain to Pakistan®?

i/ up the blank

2::1::1/2:: ::1/8

A)

1/4

B)

1/6

C)

1/10

D)

1/12




27

Fundamental Rights are in the of the Indian
Constitution.

A)

Part IV

B)

Part IV A

C)

Part 111

D)

Part 11

28

On which day Constitution Day is celebrated in Indigy?

A)

28-Nov

B)

30-Nov

C)

26-Nov

D)

29

21-Nov \,

Human Rights Day is observed on

A)

10th December

B)

10th January

C)

26th january

D)

15th August

30

Parliament consists

A)

Legislative Ass%

31

32

A man buys an article for Rs. 27.50 and sells it for Rs. 28.60. Find his
gain percentage .

A

4%




B) 2%

C) 5%

D) 6%
33 Find the odd one out

3,5,7,12,17,19

A) 19

B) 17

C) 7

D) |12
34 217x217+183x183=?

A) 79698

B) 80578

C) 80698

D) 81268
35 If 1x7 = 8, 2x7=16, 3x7= = 32, then what is the value of 9x7 = ?

A) |63

B) 72

C) |81

D) |90

separate sheet

36 : ng questions in 150 to 200 words. (Any three)

ag&of Internet and Technology, anyone can access our

ation at any time. Due to this, the rate of crime especially Cyber
has increased much fold . Cyber security has become a major
acern for the society. What are the measures and safety protocols that
can be taken to tackle Cyber Crime in India ?

B)

Climate Change' is a global problem. Discuss the socio-economic impact
of Climate Change in India .

C)

What do you understand by Uniform Civil Code ? Examine its relevance
for a secular country like India and challenges towards its implementation




D) [Empowering women is the key to control population growth in India .

Discuss

E) |Write an Essay on 'Azadi ka Amrit Mahotsav' (75 Years of Independence

of India).
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